
Adaptations in Birds’ Beaks (I)

Look at the different birds’ beaks shown below.  They belong to 4 different birds: creeper, 
curlew, hummingbird and woodpecker. Match each bird to the correct type of beak.  Give a 
reason why the beak selected is suited for the bird’s way of living.

This beak belongs to a __________________________.

Reason: _____________________________________

____________________________________________

____________________________________________

This beak belongs to a __________________________.

Reason: _____________________________________

____________________________________________

____________________________________________

This beak belongs to a __________________________.

Reason: _____________________________________

____________________________________________

____________________________________________

This beak belongs to a __________________________.

Reason: _____________________________________

____________________________________________

____________________________________________
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